"W2334249"

WEBER COUNTY

SUBDIVISION IMPROVEMENT

E# 2334249 PG 1 OF 15 ERNEST D ROWLEY, WEBER COUNTY RECORDER 11-APR-08 401 PM FEE \$.00 DEP JPM REC FOR: WEBER COUNTY PLANNING

AGREEMENT

- 1. Parties: The parties to this Subdivision Improvement Agreement ("the Agreement") are <u>Powder Canyon</u>

 LC ("the Developer") and Weber County Corp. ("the County").
- 2. Effective Date: The Effective Date of this Agreement will be the date that final subdivision plat approval is granted by the County Commission ("the Commission").

RECITALS

WHEREAS, the Developer seeks permission to subdivide property within the unincorporated area of Weber County, to be known as <u>Prodest Caugh Condemnators</u> (the "Subdivision"), which property is more particularly described on Exhibit A attached hereto and incorporated herein by this reference (the "Property"); and

WHEREAS, the County seeks to protect the health, safety and general welfare of the residents by requiring the completion of various improvements in the Subdivision and thereby to limit the harmful effects of substandard subdivisions, including premature subdivision which leaves property undeveloped and unproductive; and

WHEREAS, the purpose of this Agreement is to protect the County from the cost of completing subdivision improvements itself and is not executed for the benefit of material, men, laborers, or others providing work, services or material to the Subdivision or for the benefit of lot or home buyers in the Subdivision; and

WHEREAS, the mutual promises, covenants, and obligations contained in this Agreement are authorized by state law and the County's Subdivision Ordinance Title 26-4-1 et seq;

THEREFORE, the Parties hereby agree as follows:

DEVELOPER'S OBLIGATIONS

3. Improvements: The Developer will construct and install, at his own expense, those on-site and off-site subdivision improvements listed on Exhibit B attached hereto and incorporated herein by this reference ("the Improvements"). The Developer's obligation to complete the Improvements will arise upon final plat approval by the County, will be independent of any obligations of the County contained herein and will not be conditioned on the commencement of construction in the development or sale of any lots or improvements within the development.

F:\FORMSMAN\13-SUB\SUB28

- 5. Standards: The Developer will construct the Improvements according to the Public Works Standards and Technical Specifications as incorporated herein by this reference.
- 6. Warranty: The Developer warrants that the Improvements, each and every one of them, will be free from defects for a period of one year from the date that the County accepts the improvement when completed by the Developer.
- 7. Completion Periods: The Developer will commence work on the Improvements within one year from the Effective Date of this Agreement (the "Commencement Period") and the Improvements, each and every one of them, will be completed within two years from the Effective Date of this Agreement (the "Completion Period").
- 8. Compliance with Law: The Developer will comply with all relevant laws, ordinances, and regulations in effect at the time of final subdivision plat approval when fulfilling his obligations under this Agreement. When necessary to protect public health, the Developer will be subject to laws, ordinances and regulations that become effective after final plat approval.
- 9. Dedication: The developer will dedicate to the County or other applicable agency as designated by the County the Improvements listed on Exhibit B attached hereto and incorporated herein by this reference pursuant to the procedure described in Paragraph 13 below.

COUNTY'S OBLIGATIONS

10. Plat Approval: The County will grant final subdivision plat approval to the Subdivision under the terms and conditions previously agreed to by the Parties if those terms and conditions are consistent with all relevant state laws and local ordinances in effect at the time of final plat approval.

- 11. Inspection and Certification: The County will inspect the Improvements as they are being constructed and, if acceptable to the County Engineer, certify such improvement as being in compliance with the standards and specifications of the County. Such inspection and certification, if appropriate, will occur within 7 days of notice by the Developer that he desires to have the County inspect an improvement. Before obtaining certification of any such improvement, the Developer will present to the County valid lien waivers from all persons providing materials or performing work on the improvement for which certification is sought. Certification by the County Engineer does not constitute a waiver by the County of the right to draw funds under the Letter of Credit or Escrow on account of defects in or failure of any improvement that is detected or which occurs following such certification.
- 12. Notice of Defect: The County will provide timely notice to the Developer whenever inspection reveals that an improvement does not conform to the standards and specifications shown on the approved subdivision improvement drawings on file in the Weber County Engineering and Surveyor's Office or is otherwise defective. The Developer will have 30 days from the issuance of such notice to cure or substantially cure the defect. The County may not declare a default under this Agreement during the 30 day cure period on account of any such defect unless it is clear that the Developer does not intend to cure the defect. The Developer will have no right to cure defects in or failure of any improvement found to exist or occurring after the County accepts dedication of the improvement(s).
- 13. Acceptance of Dedication: The County or other applicable agency will accept the dedication of any validly certified improvement within 30 days of the Developer's offer to dedicate the improvement. The County's or agency's acceptance of dedication is expressly conditioned on the presentation by the Developer of a policy of title insurance, where appropriate, for the benefit of the County showing that the Developer owns the improvement in fee simple and that there are no liens, encumbrances, or other restrictions on the improvement unacceptable to the County in its reasonable judgment. Acceptance of the dedication of any improvement does not constitute a waiver by the County of the right to draw funds under the Letter of Credit or Escrow on account of any defect in or failure of the improvement that is detected or which occurs after the acceptance of the dedication. The Improvements must be offered to the County in no more than one dedication per month.
- 14. Reduction of Security: After the acceptance of any improvement, the amount which the County is entitled to draw on the Letter of Credit or Escrow may be reduced by an amount equal to 90 percent of the estimated cost of the improvement as shown on Exhibit B. At the request of the Developer, the County will execute a certificate of release verifying the acceptance of the improvement and waiving its right to draw on the Letter of Credit or Escrow to the extent of such amount. A Developer in default under this Agreement will have no right to such a certificate. Upon the acceptance of all of the Improvements, the balance that may be drawn under the Letter of Credit or Escrow will be available to the County for 90 days after expiration of the Warranty Period.
- 15. Use of Proceeds: The County will use funds drawn under the Letter of Credit or Escrow only for the purposes of completing the Improvements or correcting defects in or failures of the Improvements.

OTHER PROVISION

- 16. Events of Default: The following conditions, occurrences or actions will constitute a default by the Developer during the Construction Period:
 - a. Developer's failure to commence construction of the Improvements within one year of final subdivision plat approval;
 - Developer's failure to complete construction of the Improvements within two years of final subdivision plat
 approval;
 - c. Developer's failure to cure the defective construction of any improvement within the applicable cure period;
 - Developer's insolvency, the appointment of a receiver for the Developer or the filing of a voluntary or involuntary petition in bankruptcy respecting the Developer;
 - Foreclosure of any lien against the Property or a portion of the Property or assignment or conveyance of the Property in lieu of foreclosure.

The County may not declare a default until written notice has been given to the Developer.

- 17. Measure of Damages: The measure of damages for breach of this Agreement will be the reasonable cost of completing the Improvements. For improvements upon which construction has not begun, the estimated cost of the Improvements as shown on Exhibit B will be prima facie evidence of the minimum cost of completion; however, neither that amount or the amount of the Letter of Credit or Escrow establishes the maximum amount of the developer's liability. The County will be entitled to complete all unfinished improvements at the time of default regardless of the extent to which development has taken place in the Subdivision or whether development ever commenced.
- 18. County's Rights Upon Default: When any event of default occurs, the County may draw on the Letter of Credit or Escrow to the extent of the face amount of the credit less 90 percent of the estimated cost (as shown on Exhibit B) of all improvements theretofore accepted by the County. The County will have the right to complete improvements itself or contract with a third party for completion, and the Developer hereby grants to the County, its successors, assigns, agents, contractors, and employees, a nonexclusive right and easement to enter the Property for the purposes of constructing, maintaining, and repairing such improvements. Alternatively, the County may assign the proceeds of the Letter of Credit or Escrow to a subsequent developer (or a lender) who has acquired the Subdivision by purchase, foreclosure or otherwise who will then have the same rights of completion as the County if and only if the subsequent developer (or lender) agrees in writing to complete the unfinished improvements. In addition, the County also may suspend final plat approval during which time the Developer will have no right to sell, transfer, or otherwise convey lots or homes within the Subdivision without the express written approval of the County or until the Improvements are completed and by the County. These remedies are cumulative in nature except that during the Warranty Period, the County's only remedy will be to draw funds under the Letter of Credit or Escrow.

- 19. Indemnification: The Developer hereby expressly agrees to indemnify and hold the County harmless from and against all claims, costs and liability of every kind and nature, for injury or damage received or sustained by any person or entity in connection with, or on account of the performance of work at the development site and elsewhere pursuant to this Agreement. The Developer further agrees to aid and defend the County in the event that the County is named as a defendant in an action concerning the performance of work pursuant to this Agreement except where such suit is brought by the Developer. The Developer is not an agent or employee of the County.
- 20. No Waiver: No waiver of any provision of this Agreement will be deemed or constitute a waiver of any other provision, nor will it be deemed or constitute a continuing waiver unless expressly provided for by a written amendment to this Agreement signed by both County and Developer; nor will the waiver of any default under this Agreement be deemed a waiver of any subsequent default or defaults of the same type. The County's failure to exercise any right under this Agreement will not constitute the approval of any wrongful act by the Developer or the acceptance of any improvement.
- 21. Amendment or Modification: The parties to this Agreement may amend or modify this Agreement only by written instrument executed by the County and by the Developer or his authorized officer. Such amendment or modification will be properly notarized before it may be effective.
- Attorney's Fees: Should either party be required to resort to litigation, arbitration, or mediation to enforce the terms of this Agreement, the prevailing party, plaintiff or defendant, will be entitled to costs, including reasonable attorney's fees and expert witness fees, from the opposing party. If the court, arbitrator, or mediator awards relief to both parties, each will bear its own costs in their entirety.
- 23. Vested Rights: The County does not warrant by this Agreement that the Developer is entitled to any other approval(s) required by the County, if any, before the Developer is entitled to commence development of the Subdivision or to transfer ownership of property in the Subdivision.
- 24. Third Party Rights: No person or entity who or which is not a party to this Agreement will have any right of action under this Agreement, except that if the County does not exercise its rights within 60 days following knowledge of an event of default, a purchaser of a lot or home in the Subdivision may bring an action in mandamus to compel the County to exercise its rights.
- 25. Scope: This Agreement constitutes the entire agreement between the parties and no statement(s), promise(s) or inducement(s) that is/are not contained in this Agreement will be binding on the parties.
- 26. Time: For the purpose of computing the Commencement, Abandonment, and Completion Periods, and time periods for County action, such times in which civil disaster, acts of God, or extreme weather conditions occur or exist will not be included if such times prevent the Developer or County from performing his/its obligations under the Agreement.

- 27. Severability: If any part, term or provision of this Agreement is held by the courts to be illegal or otherwise unenforceable, such illegality or unenforceability will not affect the validity of any other part, term, or provision and the rights of the parties will be construed as if the part, term, or provision was never part of the Agreement.
- 28. Benefits: The benefits of this Agreement to the Developer are personal and may not be assigned without the express written approval of the County. Such approval may not be unreasonable withheld, but any unapproved assignment is void. Notwithstanding the foregoing, the burdens of this Agreement are personal obligations of the Developer and also will be binding on the heirs, successors, and assigns of the Developer. There is no prohibition on the right of the County to assign its rights under this Agreement. The County will release the original developer's Letter of Credit or Escrow if it accepts new security from any developer or lender who obtains the Property. However, no act of the County will constitute a release of the original developer from this liability under this Agreement.
- 29. Notice: Any notice required or permitted by this Agreement will be deemed effective when personally delivered in writing or three (3) days after notice is deposited with the U.S Postal Service, postage prepaid, certified, and return receipt requested, and addressed as follows:

if to Developer (Attn)

(Address)

Powder Canyon LLC P.C. Box 658 Eden UT 84310

if to County:

Attn: County Engineer Weber Center 2380 Washington Blvd. Ogden, UT 84401

- 30. Recordation: Either Developer or County may record a copy of this Agreement in the Clerk and Recorder's Office of Weber County, Utah.
- 31. Immunity: Nothing contained in this Agreement constitutes a waiver of the County's sovereign immunity under any applicable state law.

· Sub Imp Agreement

	lay of <i>April</i> , 200	o any other court whether state o	
1. 1. 1.	and the second s		
Developer			
	INDIVIDUAL A	ACKNOWLEDGEMENT	
State of Utah)			
ss County of Weber)	-		
On the	day of	4 D 20	
	day or	A.D. 20	
	day of		
personally appeared before n	18		the same.
personally appeared before n	18		the same.
personally appeared before n	18		the same.
personally appeared before n	18	dged to me that he/she executed	the same.
personally appeared before n	ne	dged to me that he/she executed	the same.
personally appeared before n	ne	dged to me that he/she executed ic, Utah	the same.
personally appeared before n	ne	dged to me that he/she executed	the same.
personally appeared before n	Notary Public Residing at:	dged to me that he/she executed ic, Utah	the same.

CORPORATE ACKNOWLEDGMENT

State of Utah	•)					
County of Weber))					
On the	7th	day of	wil	_ A.D. 20 <u>38</u>		
personally appeared		best L. To	Remas		n, did say that h	
is the OULTION 2Cd	ent was signed in he	of <i>shweet (bu</i> balf of said cos	oration by	the corporation which authority of a Resolu	ch executed the lation of its Board	foregoing instrument, is of Directors that the
said-dupopeation And	CHEMIANMARTIN Y PUBLIC • STATE of UTAI ashington Blvd. Suite 240). U	VAL		
	gden, Utah 84401 W. EXP. 11-24-2011	. _	otar Public	100		e, t
			esiding at:			
******	*********	********	*******	********	*******	*******
		eren i. Vijnsk				
Chairperson, Weber	County Commissio	n D	ate A	18/08		
ATTEST:						
by fating Webel County Clerk	a Fernelius	plant				

Sub Imp Agreement.

EXHIBIT A: PRO PROPERTY DESCRIPTION TO BE SUBDIVIDED

See Enhibit A

EXHIBIT B:

See Exhibit B

EXHIBIT C: FINANCIAL GUARANTEE

See Exhibit C

EXHIBIT A

		BOUNDARY DESCRIPTION
A PART OF THE S	OUTHWEST: 1/4	OF SECTION 22 . T7N, R1E, SLEWM, BEGINNING AT THE NORTHWEST CORNER OF
		MASE 2. SAID POINT IS ON THE SOUTHERLY RIGHT OF WAY OF MOOSE HOLLOW
		W 291.78 FEET ALONG THE EAST-WEST 1/4 SECTION LINE AND SOUTH 2,068.73
		CORNER OF SAID SECTION 22 BASIS OF BEARING N 89'14'39" W FROM SAID
		CORNER OF SAID SECTION 22; THENCE AS FOLLOWS:
	Calabara and second	(180.28 FEET RECORD) ALONG SAID MOOSE HOLLOW CONDOMINIUM PHASE 2.
S 45'18'01" W	180.35 FEE	BOUNDARY TO MOOSE HOLLOW PHASE & BOUNDARY; THENCE
S 45"26"32" W	96.30 FEET	ALONG SAID MOOSE HOLLOW 4 BOUNDARY: THENCE
WEST		THENCE
N 48'01'23" W	86.51 FEET	THENCE
WEST	251.75 FEET	TO THE EASTERLY R.O.W. OF WOLF CREEK DRIVE (SR-158) AND ALONG SAID
		R.O.W. THE FOLLOWING TWO COURSES:
NORTHEASTERLY	253.31 FEET	ALONG A NON-TANGENT CURVE TO THE RIGHT (R=855.42', DELTA=16'46'13",
		T-127.58', CHB-N 40'47'55" E, CH-252:40") TO A TANGENT UNE; THENCE
N 49"11"02" E	114.94 FEET	ALONG SAID LINE TO THE SOUTHERN ROW. OF MOOSE HOLLOW DRIVE
		(3600 NORTH) AND ALONG SAID R.O.W. THE FOLLOWING THREE COURSES:
S 41"49"00" E	75.31 FEET	TO A TANGENT CURVE TO THE LEFT: THENCE
SOUTHEASTERLY	252.63 FEET	ALONG SAID CURVE (R=280.00', DELTA=51'41'44", T=135.65',
	· · · · · · · · · · · · · · · · · · ·	CHB-S 67-38'51" E, CH-244.15") TO A TANGENT LINE: THENCE
N 86'29'18" E	314.62 FEET	TO THE POINT OF BEGINNING.
		CONTAINS 134,557.46 S.F. / 3.09 ACRES

Wolf Geek

Janet Cox

Office 801.781.4120 Mobile 801.866.8229 Fax 801.866.0183

icox@wolfcreekresort.com

EN 2334249 PG 11 OF 15

CONSTRUCTION COSTS

POWDER CANYON CONDOMINIUM PROJECT PHASE I

		DESCRIPTION	QTY	UNIT	PRICE	ESTIMATE X	OMPLETED
SECTION I		ROADS					· · · · · · · · · · · · · · · · · · ·
	1	MOBILIZATIONDEMOBILIZATION	1	LS	1,500.00	1,500.00	750.00
		6" BASE COURSE	862	TON	14.87	12,817.94	
	3	3" BITUMINOUS SURFACE COURSE	450	TON	62.37	28,066.50	
	4	8° PIT RUN SUBBASE MATERIAL	1,068	TON	14.27	15,240.36	
	5	BITUMINOUS PATCH	25	TON	45.00	1,125.00	
	6	MIRIFI 600X GEOFABRIC	2,737	SY	1.62	4,433.94	
	7	TEMPORARY TURNAROUND	1	LS	1,000.00	1,000.00	
		24" ROLLED CURB & GUTTER	1,077	LF	11.50	12,385.50	
	9	24" REVERSE LIP CURB & GUTTER	226	LF	11.50	2,599.00	
	10	SAWCUT C&G/EA	2	EA	250.00	500.00	`
	11	SAWCUT ASPHALT	80	LF	1.50	120.00	
	12	ASPHALT PATCH	23	SY	52.35	1,204.50	
	13	STREET/TRAFFIC SIGNS	1	EA	250.00	250.00	
•		SUBTOTAL				81,242.74	750.00
SECTION II		GRADING & EXCAVATION					
	14	STRIP AND CLEAR TOPSOIL	1,233	CY	2.90	3,575.70	3,575.70
	15	ROADWAY EXCAVATION	112	CY	2.90	324.80	324.80
	16	STRUCTURAL FILL	1,140	CY	20.96	23,894.40	23,894.40
	17	ROADWAY EMBANKMENT FILL	1,316	CY	20.96	27,583.36	27,583.36
	18	EXCAVATION (BUILDING 1 & 2)				N/A	N/A PART OF BLDG.
	19	STRUCTURAL FILL(BLDG. 1 & 2)				N/A	N/A PART OF BLDG.
	20	EMBANKMENT FILL(BLDG. 1 & 2)				N/A	N/A
	21	EXCAVATION (PARKING LOTS)	87	CY	6.75	587.25	587.25
	22	STRUCTURAL FILL (PARKING LOTS)	3,778	CY	20.96	79,187.51	79,187.51
	23	EMBANKMENT FILL(PARKING LOTS)	772	CY	20.96	16,181.12	16,181.12
	24	BACKFILL FOUNDATIONS				N/A	N/A PART OF BLDG.
		SUBTOTAL				151,334.14	151,334.14
SECTION III		SANITARY SEWER					
	25	6" ASTM D3034 PVC SEWER LINE	456	LF	26.77	12,207.12	12,207.12
	26	RAISE 5'MANHOLE	5	EA	700.61	3,503.05	3,503.05
	27	CLEAN OUTS	2	EA	1,018.14	2,162.28	2,162.28
		SUBTOTAL				17,872.45	17,872.45
		070011 00 141					· ·

SECTION IV

	STORM DRAIN					
28	CATCH BASIN W/GRATE	8	EA	911.93	7,295.44	7,295.44
29	15" RCP STORM DRAIN AND FITTINGS	599	LF	27.75	16,622.25	16,622.25
30	6" PVC DRAIN LINE & FITTINGS	114	LF	16.25	1,852.50	1,852.50
31	4" PVCFOOTING DRAIN & FITTINGS	1,170	LF	16.25	19,012.50	-
32	RIP RAP	1	EA	1,783.00	1,783.00	1,783.00
	SUBTOTAL				46 565 69	27 553 19

3/19/2008

224,757.00

PG 12 OF 15

EXHIBIT B

*		· -					
SECTION V		CULINARY WATER				E# 2	334249
	33	8" DIP CLASS 51 WATER LINE	280	LF	26.76	7,492.80	7,492.80
	34	4" DIP FIRE LINE & SETTINGS	285	LF	24.44	6,965.40	6,965.40
	35	8" GATE VALVE COMPLETE WITH BOX	1	EA	1,527.51	1,527.51	1,527.5
	36		22	EA	450.00	9,900.00	
	37	FIRE HYDRANT ASSEMBLY	. 1	EA	4,325.89	4,325.89	4,325.89
	38	2" BLOW-OFF FOR CULINARY LINE	1	EA	600.00	600.00	
		SUBTOTAL				30,811.60	20,311.60
SECTION VI		IRRIGATION WATER				•	
	39	2" SERVICE LINE & FITTINGS	188	· LF	10.57	1,987.16	
		2" STUB & BALL VALVE	3	EA	543.25	4,346.00	-
	41	6" C-900 PVC CLASS 200 IRR LINE PIPE	240	LF	15.40	3,696.00	3,696.00
	42	6" IRR GATE VALVE COMPLETE WITH BOX	1	EA	1,120.75	1,120.75	1,120.75
		6" IRR LINE PLUG	1	EA	292.61	292.61	292.61
		SUBTOTAL				11,442.52	5,109.36
SECTION VII	144	LAND DRAIN	475	4.5	22.42	14 024 50	1402450
		6" PERF PIPE & FITTINGS	475	LF	31.42	14,924.50	14,924.50
		6" SOLID PIPE & fiTTINGS	169	<u>LF</u>	26.77	4,524.13	4,524.13
	-	4" MANHOLE	3	EA_	2,552.10	7,656.30	7,656.30
	47	GRAVEL/TON	2,687	TON	21.12	56,737.85	56,737.85
	48	MIRIFI	SY	1634	1.62	2,647.08	2,647.08
	<u> </u>	SUBTOTAL			<u> </u>	86,489.86	86,489.86
SECTION VIII							
SECTION VIII	40	TRAILS				<u> </u>	
		ROUGH GRADING GEOTEXTILE STABALIZATION FABRIC					
		6" BASE COURSE					
			F22		0.00	4 600 00	
	32	TRAIL CONSTRUCTION	522	LF	9.00	4,698.00	0.00
	L	SUBTOTAL	<u>:</u>			4,698.00	0.00
		TOTAL SECTIONS I-VIII				430,457.00	309,420.60
		DIFFERENCÉ-TOTAL CONSTRUCTION ESCI	ROW				121,036.40
							-,
	-	10% CONTINGENCY					43,045.70
		TOTAL LANDSCAPE-SEE ATTACHED					55,159.00
	-	10% CONTINGENCY					5,515.90

3/19/2008

TOTAL AMOUNT ESCROWED

\$ 60,674.90



March 17, 2008

Powder Canyon Condominiums – Phase I Two Buildings

Total Landscape Financial Guarantee

Preliminary Budget for Landscape

			· · · · · · · · · · · · · · · · · · ·	
	Bldg. 1	Bldg. 2	Unit Price	Total
Irrigation System / sqft.	23,200	15,900	.75	29,325.00
Fine Grading / sqft.	23,200	15,900	.13	4,953.00
Deciduous Trees (2" Cal.)	16	12	300.00	8,400.00
Conifer Trees (6' Tall)	8	6	300.00	4,200.00
Shrubs (#5)	60	45	35.00	3,675.00
Groundcover (Flats of 36)	4	3	50.00	350.00
Native Grass / sqft.	20,000	12,000	.07	2,240.00
Mulch Beds / sqft.	4,400	1,200	.36	2,016.00
Total Landscape Bid for Bo	th Bldgs.	٠.		\$ 55,159.00
10% Contingency		1		5,515.90

TO WEBER COUNTY, UTAH:

The undersigned Escrow Agent does hereby certify that it has in its possession and custody, cash in the sum of

\$ 224, 354,00 which said sum said Escrow Agent is holding in escrow to guarantee the installation and completion, according to Ordinance, of all on and or off-site improvements, as specified in Exhibit "B" on the following described tracts of land in Weber County, Utah to wit:

SEE EXHIBIT "B"

In the event the funds so provided herein do not pay for and complete in full all of the specified improvements set forth in Exhibit "B" and as contemplated herein, then and in that event, subdivider\developer agrees to forthwith pay to Weber County all additional amounts necessary to so complete such improvements.

F:\FORMSMAN\13-SUB\SUB36

Page 1

Exhibit C

Said Escrow Agent hereby covenants and agrees that it will not release said funds to any person, firm or corporation (other than as is hereinafter provided) without the express written consent and direction from said Weber County, Utah, and that if said improvements are not satisfactorily installed and completed according to Ordinance within one month short of two years from the date hereof, that the said Escrow Agent will upon demand deliver said funds to said Weber County, Utah for the sole purpose of making and/or completing all of said improvements, with said County to return to the said Escrow Agent any and all funds which may prove to be in excess of the actual cost to the County to make and/or complete said improvements.

It is understood that the County may, at its sole option, extend said period of two years for such completion of such improvements upon request of the Escrow Agent or the Subdivider, if the County Commission determines that such extension is proper.

It is further understood and agreed that all matters concerning this agreement shall be subject to the pertinent provisions of the ordinances of Weber County, Utah.

ar:		
DATED this	9 day of <u>MARCH</u> , 2008	
	Escrow Agent Agent	<u>*</u>
State of Utah)	Signature // Title: <u>SVP</u>	
County of Weber)		
NOTA KIERA I 2302 W Ogder My Comm	acknowledged to me that he/she executed the same. RY PUBLIC PATTERSON ashington Blvd n. UT 84401 mission Expires aber 12, 2008 Notary Public	d before me the signer(s) of the
APPROVED AS TO FORM:	: Weber County Attorney	4/8/2008 Date
APPROVED:	Chairperson, Weber County Commission	
ATTEST:	Weber County Clerk/Auditor	4/8/08 Date
CAPODAGNANNIO CUDICUDOS		Page 2

F:\FORMSMAN\13-SUB\SUB36